1 /mATHS ROCKSTARS Y % (= |

Step 1 Step 2

1+1=

4L + 4

[ Challenge 1 and 2 ]

Some questions have been adapted from Big Maths UK original




1 /mATHS ROCKSTARS Y % (= |

Step 1 Step 2 Step 3
1T+1= L + 4 = =2+ 3
=2+ 2 =3+3 2 +1=
5+5=

Some questions have been adapted from Big

Maths UK original

[ Challenge 3 ]




1 /mATHS ROCKSTARS Y % (= |

Step 2 Step 3 Step 4
=4+ 4 =2+3 1+9-=
=6+4
3+3-= 2+1=
=3+7
=5+5 8 +2=
5+5=

Some questions have been adapted from Big Maths UK original

[ Challenge & ]




1 /mATHS ROCKSTARS Y % (= |

Step 2 Step 4 Step 5
4 + 4 = 1T+9= =4 + 2
=3+ 3 =6+ 4 2 +5=
5+5-= 3+7= =6+ 2
Step 3 8+2- > *37
=5+5 9+2-=
=2+ 3 =3+ 4
2+1= 7+2=
3+6 =

[ Challenge 5 ]

ome questions have been adapted from Big Maths UK origina



1 /mATHS ROCKSTARSSY %

Step 4 Step 5

=1+9 =4 + 2

6+ 4 = 2+5-=
3+7-= =6+ 2

=8 + 2 5+3=

5+5-= 9+2-=
=3+4

71+2-=

3+6-=

Some questions have been adapted fro

m Big Maths UK original

[ Challenge 6 ]




%) £/ mATHS ROCKSTARS

Step 5 Step 6
LI_+2= 8+8= 4 + 7= 7 x 10=
_ =3x10|9 + 4=
"o =1+ 10xl+-x 11 x 10=
6+2-= i i
—c+3 =6+ 6 12 x 10= 8 + 3=
=1x10 |10 x 10=
0+ 2 = 9 +90=
8 x 10= =5x10
=3+4h -=3+9|2x10
7+2=
10x6 = =4+ 8
3+6= 10x9 =

Some questions have been adapted from Big Maths UK original

[ Challenge 7 ]




aa ' Name:
< /MATHS ROCKSTARSE 3% | o
Step 6 Step 7 Step 8
8 + 8 = 4 + 7= 7 x 10=
=3 x10 9 + 4= = 100+10 | 80+10=
=7+7
10 x 4= 11 x 10= 70+10= = 4,0+10
=6+ 6 12 x 10= 8 + 3=
=1x10 |10 x 10= 120710= _|20+10=
9+90-=
8 x 10= =5x10 110+10= =60+10
=3+9 |2x10
=30+10|20+10=
10x6 = =4+ 8
10x9 = =10+10 |90+10=

T& SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 8 ]




Some questions have been adapted from Big Maths UK original

na Name:
w1 E/MATHS ROCKSTARSE 3¢ | o
Step 7 Step 8 Step 9
12 x10= |8 + 3= 9 x 5= 10 x 5=
=1x10| =10x10 = 100+10 | 80+10= =5+ 6|5 x 3=
10 X 4= 11 x 10= 70_1O= - 40_10 5 + 4= =8 X 5
7 x 10= 4 + 7= =6 x5|5x5=
2 x 10 3+9 | 120710=  [50+10= 11 x 5= =8 + 7
8 x 10= 5x10= 110+10= =60+10 =12x5|5x7=
=9 + 4 |3 x10= 9 + 8= 5 x 4=
=30+10|20+10=
4 + 8 = 100 x 6 = 1 x 5= 7+ 6=
=10 x 9 =10+10 | 90+10= 2 x 5= 10 x 5=
@?\zr scoke . Challenge 9
ici ‘ [ ]




Some questions have been adapted from Big Maths UK original

K _ Name:
W IZ/MATHS ROCKSTARSE 3% | o
Step 8 Step 9 Step 10
9 x 5= 10 x 5=
= 100+10 | 80+10= 5 +6|5x3= =50+5 |20 + 5=
70+10= = 40+10 || |2+ 47 =8x5 |ll35:5= |60+ 5=
=6 x5 |5 x5=
120+10= 50+10= 11 x 5= _8 + 7 =15+5 125 + 5=
110+10= =60+10 =12x5|5x 7= 55 + 5= 30 + 5=
9 + 8= 5 x 4=
=30+10|20+10= 5 + 5= =10+5
1x 5= 7+ 6=
=10+10 [ 90+10= 2 x 5= 10 x 5= 40 + 5= 45 + b=
s Challenge 10
(S L 2
7 SCORE: [ )




%) £/ mATHS ROCKSTARS

Name:

* Date:

Some questions have been adapted from Big Maths UK original

Step 9 Step 10 Step 11
9x5= |10 x 5= 12x2= |1x2=
=5+6|5 x 3= =50+5 |20 + 5= 2x9= |10 x 2=
5+4= =8X5 35+5= 60+5= =LI-X2 2X5=
=6x5 | 5 x 5= 2 x 7= =6 + 8
11 x 5= —8+7 =155 125 ¢ 5= —6+ 9 |2 x 2=
=12x5 |5 x 7= 55 + 5= 30 + 5= 6 x 2= 7 + 5=
9+ 8= |5xb4= 11 x 2= =7+ 9
5 + 5= =10+5
1x 5= 7 + 6= =3x2 |5+ 9=
2x5= |10 x 5= 40 + 5= |45 + 5= 8 +5= |2x8=
5 m Challenge 11
a7 SCORe (el




aa Name:
ir
<) Z/MATHS ROCKSTARS
Step 10 Step 11 Step 12
12 x 2= 1x 2=
=50+5 20 + 5= 2 X 9= 10 X 2= 18 + 2= 16 + 2=
35+ 5= |60 + 5= =4x2)|2x5= =10+ 2 |4 + 2=
2x7= =6 + 8
=15+5 25 + 5= 6+ 9 |2 x 2= 14 + 2= =2+ 2
55+ 5= |30 + 5= 6 x 2= 7+ 5= 6 + 2= =8+ 2
11 x 2= =7+ 9
5+ 5= =10+5 =22+ 2 |24 + 2=
=3x2 |5+ 9=
40 + 5= 45 + 5= 8 + 5= 2 x 8= 12 + 2= 20 + 2=
oo [ Challenge 12 ]
(S L 2
1L SCORe:

Some questions have been adapted from Big Maths UK original




na Name:
fr
WU I/MATHS ROCKSTARS
Step 11 Step 12 Step 13
12 x 2= 1x 2=
2X9= 1OX2= 18+2= 16+2= 12X3= 6X3=
=4 x212x5= =10+ 2 |4 + 2= =3 x4 |9 x3=
2x7= =6 + 8
6+ 9 |2 x 2= 14 + 2= =2+2 2 x 3= 8 x 3=
6 x 2= 7+ 5= 6 + 2= =8+2 =3x 1|5 x 3=
11 x 2= =7+ 9
=22+ 2 |24 + 2= 3x7= 3 x 3=
=3 x2 |5+ 9=
8 + 5= 2 x 8= 12 + 2= 20 + 2= 10 x 3= =11 x 3

11 SCORe:

Some questions have been adapted from Big Maths UK original

Challenge 13 ]




%) £/ mATHS ROCKSTARS

Step 12 Step 13 Step 14
18 + 2= [16 + 2= 12 x 3= 6 x 3= 3+ 3= 33 + 3=
=10+
2 4 + 2= =3x4 |9x3= =24+3 |18 + 3=
=2 =
14 +2= |2 2 x 3= 8 x 3= 12 + 3= 27 + 3=
=8 =+
6:2= |2 =3x 1|5 x 3= 6 + 3= 15 + 3=
=22+
2 24 + 2= 3x7= 3 x 3= 21 + 3= =9+3
12+2= |20+ 2= 10 x 3= =11x3| |[30+ 3= =36+3

1&1 SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 14 ]




na Name:
&
MATHS ROCKSTARS
Step 13 Step 14 Step 15
12 x 3= 6 x 3= 3+ 3= 33 + 3= 7 x 4= 4 x 9=
=3 X
4 9 x 3= =24+3 |18 + 3= 12 x 4= 4 x 2=
2 x 3= 8 x 3= 12 + 3= 27 + 3= =4 x5 |4 x10=
=3X
1 5 x 3= 6 + 3= 15 + 3= 4 x 4= =11 x &4
3x7= 3 x 3= 21 + 3= =0+3 8 X 4= 6 x 4=
=11 x
10 x 3= 3 30 + 3= =36+3 =1x4 |3 x 4=

5

1%l SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 15 ]




na Name:
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% E/MATHS ROCKSTARSSY ¥ |~

Step 14 Step 15 Step 16
3+ 3= 33 + 3= 7 x 4= 4 x 9= 12 + 4= =8 + 4
=24+3 18 + 3= 12 X 4= 4 x 2= Ly + 4= 48 + 4=
12 + 3= 27 + 3= =4 x5 |4 x10= 4 + 4= 40 + 4=
6+3= |15+ 3= b x 4= =11 x 4 =36+ 4 |20 + 4=
21+ 3= |=9:3 8 x 4= 6 X 4= 32 + 4= =24 + 4
30 + 3= |=36+3 =1x 4 |3 x 4= 28 + 4= 16 + 4=

T SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 16 ]




el / Name:
3 A
W E/MATHS ROCKSTARSE 3% | oo
Step 15 Step 16 Step 17
7 X 4= 4 x 9= 12 + 4= =8 + 4 6 x 8= 8 x 2=
12 x 4= 4 x 2= L + 4= 48 + 4= =8 x5 |10 x 8=
=4 X
5 4 x 10= 4 + 4= 40 + 4= 3 x 8= 12 x 8=
=11 X
4 x 4= 4 =36+ 4 |20 + 4= =8x 8 |7 x 8=
8 x 4= 6 X 4= 32 + 4= =24 + 4 9 x 8= 4 x 8=
=1 x
4 3 x 4= 28 + 4= 16 + 4= =1x 8|11 x 8=
ira D1 Challenge 17
=7 SCORe: (Crlerge? ]

Some questions have been adapted from Big Maths UK original




a Name:
: 4
MATHS ROCKSTARS
Step 16 Step 17 Step 18
=8 -
12 + 4= 4 6 x 8= 8 x 2= 48 + 8= 24 + 8=
L + 4= 48 + 4= =8 x5 |10 x 8= =32 + 8 |40 + 8=
4 + 4= 40 + 4= 3 x 8= 12 x 8= 72 + 8= =56+ 8
=36+
4 20 + 4= =8x 8 |7 x 8= 88 + 8= 96 + 8=
=24 =
32 + 4= 4 9 x 8= 4 x 8= 8 + 8= =16 + 8
28 + 4= 16 + 4= =1x 8|11 x 8= 64 + 8= 80 + 8=
[ Challenge 18 ]
P
1%L SCORE

Some questions have been adapted from Big Maths UK or




el / Name:
J A
W< I/MATHS ROCKSTARSE 3% |-
Step 17 Step 18 Step 19
6 X 8= 8 x 2= 48 + 8= 24 + 8= 1x6 = L x 6=
=8 X
5 10 x 8= =32 + 8 |40 + 8= Mx6= 6x5=
3 x 8= 12 x 8= 72 + 8= =56+ 8 =6x2 |7Tx6 =
=8X
8 7 x 8= 88 + 8= 96 + 8= 6 x8 = =3 x 6
9 x 8= 4 x 8= 8 + 8= =16 + 8 =12x6 |10 x 6 =
=1 X
8 1 x 8= 64 + 8= 80 + 8= 6x6 = 9x6 =

[ Challenge 19 ]

Some questions have been adapted from Big Maths UK original



%) £/ mATHS ROCKSTARS

Name:

* Date:

Step 18 Step 19 Step 20
48 + 8= |24 + 8= 1x6 = 4x6 = = 54+6 |42 + 6=
=32_

8 40 + 8= MNx6-= 6x5= 48 + 6= =30+6
=56+

72 + 8= |8 =6x 2 |7TXx6 = 24 + 6= 18 + 6=

88 + 8= |96 + 8= 6x8 = =3x6 =666 |12 + 6=
=16 +

8 + 8= 8 =12x 6 |[10x 6 = 6 + 6= 36 + 6=

64 + 8= |80 + 8= 6x6= 9x6 = 72 + 6= 60 + 6=

i1 SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 20 ]




21 /mATHS ROCKSTARS

Name:

* Date:

Some questions have been adapted from Big Maths UK original

Step 19 Step 20 Step 21
1x6= |4x6= = 54+6 |42 + 6= 12x7 = 10 x 7 =
Mx6 = 6 x5-= 48 + 6= =30+6 =7x8 |5x7 =
=6X
2 7x6 = 24 + 6= 18 + 6= 7x6 = =2 x 7
=3 X
6x8= |6 =666 |12 + 6= 1x7 = Mx7 =
=12 x
6 100x6 = 6 + 6= 36 + 6= =3x7/9x7 =
6x6= |9x6= 72 + 6= 60 + 6= 4x7 = 7x7 =
TR Challenge 21
1%l SCORe: | Challenge 21|




fa e Name:
Ir
% E/maTHS ROCKSTARSSY & |-

Step 20 Step 21 Step 22
54+6= 42 + 6= 12x7 = 10x7= 63 + 7= 70 = 7=
48 + 6= | =30+6 =7x8 |5x7 = 7+ 7= 42 + 7=
24 + 6= |18 + 6= 7x6 = =2 x7 =777 |14 + 7 =
=66+6 12 + 6= 1x7= Mx7 = 49 + 7 = =56+7
6 + 6= 36 + 6= =3x7/9x7= 28 + 7= 21+ 7 =
12 + 6= 60 + 6= 4 x 7 = Tx7T= 84 + 7= =35+7

1&1 SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 22 ]




el / Name:
3 A
W E/MATHS ROCKSTARSE 3% | oo
Step 21 Step 22 Step 23
12 x7 = 100x7 = 63 +7 = 70 = 7= 5x9 = =3 x9
7x8 5x7-= 7+ 7= 42 + 7= 10 x 9 = 8x9 =
=2 X
7x6 = 7 =77+7 |14 + 7 = =6x9 |2 x9 =
1x7 = Mx7-= 49 + 7 = =56+7 7x9 = 9x9 =
=3 x
7 9x7 = 28 + 7= 21 + 7 = 12 x9 = =1x 9
L x 7 = 7x7= 84 + 7= =35+7 1M x9 = 4 x 9 =
e
@i Scoke: [Challenge 23 ]

Some questions have been adapted from Big Maths UK original
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%! ¥/ MATHS ROCKSTARSEY e [~
Step 22 Step 23 Step 24
63 +7 = 70 + 7= 5x9 = =3 x 9 72 + 9 = =00+ 0
7+7=  |42+7- 10x9= |8x9 - 45+9= (108 +9 =
=77+7 14 =7 = =6x9 |2 x9 = 27 + 9 = =63 + 9
49 =7 = =56+7 7Tx9 = O9x9 = =Q + 9|36 +9 =
28 + 7= 21+ 7 = 12 x9 = =1x 9 18 + 9 = 54 + 9 =
84 + 7= =35=+7 1M1 x9 = 4 x9 = 90 + 9 = 81 + 9 =
o

Some questions have been adapted from Big Maths UK original

1%L SCOR:

[ Challenge 24 ]




aa ; Name:
Wl E/MATHS ROCKSTARSE 3¢ | oee
Step 23 Step 24 Step 25
=3 x
5x9 = 9 72 + 9 = =99+ 9 Mx5-= Mx1 =
10 x 9 = 8x9 = 45 + 9 = 108 + 9 = =2x11 (12 x 11 =
=6x9 2x9-= 27 + 9 = =63 + 9 7x1 = 9x11 =
7x9 = 9x9 = =90+ 936 +9 = 8x1 = 10 x11 =
=1x
12 x 9 = 9 18 + 9 = 54 + 9 = 1x11 = 3x11=
M x9 = 4 x 9 = 90 + 9 = 81 +9 = =M x6|4x11 =

Some questions have been adapted from Big Maths UK original

[ Challenge 25 ]




aa / Name:
& A
w1 I/MATHS ROCKSTARSS 3% (o=
Step 24 Step 25 Step 26
=99+
2+9= 19 Mx5-= Mx1 = 22 + 11= 121 + 11=
45 +9 = 1108 + 9 = =2x11 |12 x 11 = 88 + 11= 44 + 11=
=63 +
27 +9= 1|9 7x1 = 9x11 = 132 + 11= =66+11
=9 -
9 36 +9 = 8x1 = 10x11 = =10+11 |77 =+ 1=
18+9= |54+9-= 1x11 = 3x11 = =33+11 |11 + 1=
90+ 9= |81 +9 = =M x6|4x11= 99 + 11= 55 + 1=

;’ib

1%1 SCORe:

[ Challenge 26 ]

Some questions have been adapted from Big Maths UK original



na Name:
J
W C/MATHS ROCKSTARS
Step 25 Step 26 Step 27
Mx5-= MNMx11 = 22 + 1= 121 + 1= 9 x12= =10x12
=2x11 12x11 = 88 + 11= 44 + 1= 1x12= 12 x 4=
7x1 = 9x1 = 132 + 11= =66+11 =7x12 |12 x 12=
8x11 = 10x11 = =110+11 |77 + 1= 12 x 8= =6x12
1x11 = 3x11 = =33+11 |11 + 11= 12 x 2= 1M x12=
=11 x

6 4 x11 = 99 + 11= 55 + 11= 3x12= 12 x 5=

11 SCORe:

Some questions have been adapted from Big Maths UK original

[

Challenge 27 ]




aa Name:
MATHS ROCKSTARS

Step 26 Step 27 Step 28
22 +11= 121 + 1= 9 x12= =10x12 12 + 12= 36 + 12=
88 +11= |44 + 11= 1x12= 12 x 4= =48+12 1108 + 12=
132 + 11= | =66+11 =7x12 |12 x 12= =84+12 |24 + 12=
=110+11 77 + 1= 12 x 8= =6x12 =96+12 (144 + 12=
=33+11 1M+ 1= 12 x 2= 1M1 x12= 132 + 12= 72 + 12=
99 + 11= |55 + 11= 3 x12= 12 x 5= 120 +12= |60 + 12=

T SCORe:

Some questions have been adapted from Big Maths UK original

[ Challenge 28




